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A’s actual ‘demand ‘for G as an (inverted) function of cost share (s) 
and endowment

B’s actual ‘demand ‘for G as an (inverted) function of cost share (1-s) 
and endowment

sA = share  of the cost of G born by agent A (1-sA is the share borne by agent B)

The non-equilibrium Lindahl share

F2.1 The Lindahl strategy: Pareto but no-equilibrium
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F2.2 Changing the supply of public goods with given cost shares

With s = ½,  B wants less

With s = ½, A wants more
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Social welfare loss if under the ATP principle A forced the government
To produce its preferred amount of G

Social welfare loss if under the ATP principle B forced the government
to produce its preferred amount of G
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Since the coloured areas overlap, each 
coloured area may be partly hidden under 

another area with a different colour.
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Social welfare loss if A were capable of forcing the 
government to shift part of A’s cost share onto B, and 

then increase the amount of G to A’s newly desired level
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See same note of previous slide
on colour of overlapping areas
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F2.3 Changing supply and cost shares
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